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In an unregulated power supply, if
load current increases, the output
VOltage ....ocooevvvvrinnnnns :

(A) Remains the same

(B) Decreases

(C) Increases

(D) None of the above

A power supply which has voltage
regulation of ................ is unregulated

power supply.

(A) 0%
(B) 5%
(C) 10%
(D) 8%

A Zener diode utilises .............
characteristic for voltage regulation.

(A) Forward

(B) Reverse

(C) Both forward and reverse

(D) None of the above

A Zener diode is used as a .......cc.......
voltage regulating device.

(A) Shunt

(B) Series

(C) Series-shunt

(D) None of the above
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As the junction temperature increases, the
voltage breakdown point for Zener
mechanism ............... :

(A) isincreased

(B) is decreased

(C) remains the same

(D) None of the above

In a 15 V Zener diode, the breakdown
mechanism will occur by ............... .

(A) Avalanche mechanism

(B) Zener mechanism

(C) Both  Zener and avalanche

mechanism

(D) None of the above

Another name for Zener diode is ..............
diode.

(A) Breakdown

(B) Voltage

(C) Power

(D) Current

Set-A



8. Zener diode is generally made
Of i .
(A) Germanium
(B) Silicon
(C) Carbon

(D) None of the above

9. A Zener diode ................ )

(A) isa battery

(B) acts like a battery in the breakdown
region

(C) has a barrier potential of 1 V

(D) is forward biased

10. Two similar 15 V Zeners are connected in
series. What is the regulated output
voltage ?

(A) 15V
(B) 5V
(C) 30V

(D) 45V
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11.

12.

Consider the circuit shown below where
the breakdown voltage of the diode is
5 V. Source voltage varies between 6 V
to 12 V.

R,

| +

Find the maximum current through
the R, given that Ry = 2 kQ and
R, =5kQ.
(A) 35mA
(B) 1mA
(C) 14mA

(D) 0.2mA

................ are the type of linear voltage

regulators.
(A) Series
(B) Shunt

(C) Both (A)and (B)

(D) None of the above
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13.

14.

15.
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Which one is a type of switching voltage
regulator ?

(A)
(B)
(©)
(D)

Step-up
Step-down
Inverter

All of the above

What is not related to a transistorized

series regulator ?

(A) The output can be varied by using a

variable resistor.

(B) The output is independent of
temperature.

(C) The overload and short circuit

protection is not required.

(D)

The circuit has negative feedback
responsible for regulation.

Consider the Op-amp circuit shown.

Q1 R,
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The breakdown voltage of the Zener is
5 V. B for the transistor is 100.
Ri=10kQ, R, =90 kQ, Rz =30 kQ,
Rs = 50 kQ. Calculate the total output
voltage.

(A) 20V

(B) 30V

(C) 5V

(D) 50V
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16.

17.

18.

Reverse saturation current of a common

emitter transistor is .........cco....... )

(A) Collector current when emitter is
open circuited and base-collector

junction is reverse biased

(B) Emitter current when collector is
open circuited and base-collector
junction is reverse biased

(C) Base current when emitter circuit is

open circuited and emitter-collector
junction is reverse biased
(D) Collector current when base circuit

is open circuited

Reverse collector saturation current lcgo

[P .

(A) Collector current when emitter
current is zero

(B) Collector current when base current
is zero

(C) Same as reverse saturation current

(D) Collector current when either

emitter or base current is zero

Which of the following statements about
a common base transistor is true ?

(A)
(B)
©)
(D)

Very low input impedance
Very low output impedance
Current gain is greater than unity

Voltage gain is very low

Set-A



19.

20.

21.

22.

ELC-203(N)

Which of the following statements about
a common emitter transistor is true ?

(A) Very high input resistance

(B) High output resistance

(C) Current gain is less than unity

(D) Voltage gain is very low

Which of the following configurations is

used for impedance matching ?

(A) Common base configuration

(B) Common emitter configuration
(C) Common collector configuration
(D) Al

suited.

configurations are equally

What is Barkhausen criterion for

oscillation ?

(A) AB>1
(B) AB<1
(C) AB=1

(D) AB =1

An oscillator is a type of :

(A) Feedforward amplifier
(B) Feedback amplifier
(C) Waveform amplifier

(D) RC amplifier

(6)

23.

24.

25.

26.

What happens if |AB| <1 ?

(A) Oscillation will die down
(B) Oscillation will keep on increasing
(C) Oscillation remains constant

(D) Oscillation fluctuates

During high frequency applications of a
B. J. T., which parasitic capacitors arise
between the base and the emitter ?

(A) CjeandCy

(B) Ces

(&

The h-parameters analysis gives correct
results for .................. .

(A) large signals only

(B) small signals only

(C) both large and small

(D) not large nor small signals

How many h-parameters are there for a
transistor ?
(A) Two
(B) Three
(C) Four

(D) Five
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27.

28.

29.

30.

ELC-203(N)

The dimensions of hje parameters

are .ooveeeenn. :
(A)
(B)
(©)
(D) Ampere

MHO
OHM
Farad

The h¢ parameter is called ................ in

CE arrangement with output short

circuited.

(A)
(B)
(©)
(D)

Voltage gain
Current gain
Input impedance

Output impedance

If temperature changes, h parameters of a
transistor ..........ccoceevenne. :

(A) also change

(B) do not change

(®

(D) may or may not change

remain same

The values of h-parameters of a transistor

are ...

in CE arrangement
arrangement.

(A)
(B)
(C) different from that in CB
(D)

same as for CB

same as for CC

similar to no

(7)

31.

32.

33.

In a hybrid model of a two-port network,
parameter hy; is also known as :

(A)
(B)

(C) Output conductance

Input conductance

Input resistance

(D) Output resistance

For the two-port network shown below,
assume R; = R, = 10 kQ. What is the

value of the hybrid parameter hy, ?

Input Port Output Port

(A)
(B)
(©)
(D)

0.1 mho
10 mhos
20 mhos

15 mhos

What are the hybrid parameters used to
analyze ?

(A) MOSFET

(B) Junction Field Effect Transistor
(C) Bipolar Junction Transistor

(D)

It has no use.
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34. What type of amplifier is an emitter 38. What is the other name for an emitter

ifier ? - ) :
follower amplifier * follower amplifier configuration ?

(A) Voltage amplifier
(A) Common collector
(B) Wideband amplifier

(C) Feedback amplifier (B)  Common base
(D) Power amplifier (C) Common emitter
35. How is the output impedance of an (D) Amplifier circuit

emitter follower amplifier ?

39. What is the application of a high input
(A) lrrelevant

(B) Moderate resistance transistor amplifier circuit

(C) Low amplifier ?

(D) High (A) Positive feedback

36. What type of negative feedback does the (B) Voltage gain
emitter follower amplifier provide ?

(C) Power gain
(A) Voltage, current and power
(B) Voltage (D) Impedance matching
(C) Current 40. How is the power gain of a high input
(D) Power

resistance transistor amplifier and circuit

37. What is the voltage gain of an emitter .
amplifier ?

follower amplifier ?
(A) Irrelevant

(A 1

®) p (B) Moderate
©) o (C) Low
(D) O (D) High

ELC-203(N) (8) Set-A



41.

42.

In an RC coupled CE amplifier, when the
input frequency increases, which of these

are incorrect ?

(A) Reactance Cgsy decreases.

(B)

Voltage gain increases.
(C) Voltage gain decreases due to shunt
capacitance.

(D)

An RC coupled amplifier behaves

like a low pass filter.

Which of the statement is

incorrect ?

(A) At unity gain frequency the CE

short circuit current gain becomes 1.

(B) Unity gain frequency is the same as
Gain  Bandwidth  Product of
BJT.

(C) Gain of BJT decreases at higher
frequencies due to  junction
capacitances.

(D) B -cut-off frequency is one where

the CE short circuit current gain

becomes /2.

ELC-203(N)

43.

44,

45.

(9)

What is the condition to achieve
oscillations ?

(A) |AB|=1

(B) <AB=0°

(C) ZAB = multiples of 2n

(D) All the mentioned

Given a MOSFET where gate to source

capacitance is 300 pF and gate to drain
capacitance is 500 pF. Calculate the gain

bandwidth product if the

transconductance is 30 mQ.
(A)
(B)
(®
(D)

5.98 MHz
4.9 MHz
6.5 MHz

5.22 MHz

The lower and upper cutoff frequencies

of an amplifier are unknown. If

originally, individual BW of such an

amplifier is B;, and now the bandwidth of

the cascaded network of 10 such
amplifiers is By, find B,/B;.
(A) 0.26
(B) 3.84
(C) Insufficient data
(D) 5
Set-A



46.

47.

48.

For any cascaded amplifier network,

which of these are incorrect ?

(A) Cascading increases gain.

(B) Overall input resistance is equal to
the input resistance of the first
amplifier.

(C) The overall output resistance is less
than the lowest output resistance in
all amplifiers used.

(D) Loading effect occurs.

Which of these is incorrect about
Darlington amplifier ?

(A) It has a high input resistance.

(B) The output resistance is low.

(C) It has a unity voltage gain.

(D) Itis acurrent buffer.

What is a cascade amplifier ?

(A) A cascade of two CE amplifiers
(B) A cascade of two CB amplifiers
(C) A cascade of CE and CB amplifiers
of CB and CC

(D) A cascade

amplifiers

ELC-203(N)

(10)

Consider the figure shown :

E I0ul

Ve Q

Vac Q>

Given that g, = 30 mQ™ and

Om,= 50 m Q7% o4 =11, a, =15,

What is the transconductance of the entire

network ?

(A) 80mQ!
(B) 75mQt
(C) 33mQ!
(D) 55mQt

Which of the following is not an LC
oscillator ?

(A) Hartley oscillator
(B) Colpitts oscillator

(C) Crystal oscillator
(D) Clapp oscillator

Given that a feedback network is shunt-
series, and output load is 10 kQ . What is
the output voltage across it given that
transfer gain is 10, source current is
20 mA and feedback current is 10 mA ?
(A) 1V

(B) 2V

© 1wV

(D) 20V
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52.

53.

54.

55.

56.

Wide band
commonly .......ccccevvenene .
(A)
(B)
(©)
(D)

The gain of an amplifier with feedback is

amplifiers are  most

Single ended

Double ended
Unpredictable

None of the mentioned

Known as ................ gain.
(A)
(B)
(©)
(D)

A negative-feedback amplifier

Resonant

Open loop

Closed loop

None of the above

IS an
........................ amplifier.

Magnetic

Electronic

Electromagnetic

None of the above

The
follower is ................ :
(A) High

(B) Very high

€
(D)

If the feedback fraction of an amplifier is

output impedance of an emitter

Almost zero
Low

0.01, then voltage gain with negative
feedback is approximately ................. .
(A) 500

(B) 100

(C) 1000

(D) 5000

ELC-203(N)

(11)

S7.

58.

59.

60.

When a negative voltage feedback

is applied to an amplifier, its

bandwidth ............ccce.... .

(A) isincreased

(B) insufficient data

(C) isdecreased

(D) remains the same

When current feedback (negative) is
applied to an amplifiers, its input
impedance ................. .

(A) remains the same

(B) is decreased

(C) isincreased

(D) None of the above

The value of negative feedback fraction is
always ........ccceeeneenn. .

(A)
(B)
(©)
(D)

Less than 1
More than 1
Equal to 1

None of the above

A feedback circuit usually employs
..................... network.

Resistive

Capacitive

Inductive

None of the above
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10.

11.

12.

Impt. :

Four alternative answers are mentioned for
each question as—A, B, C & D in the booklet.
The candidate has to choose the most
correct/appropriate answer and mark the
same in the OMR Answer-Sheet as per the
direction :

Example :

Question :

Q1T ® @ © ®
2 ® ® @ ©
W3 @ @ © ®

[llegible with  cutting
over-writing or half filled circle will be
cancelled.

answers and

Each question carries equal marks. Marks
will be awarded according to the number of
correct answers you have.

All answers are to be given on OMR Answer
sheet only. Answers given anywhere other
than the place specified in the answer sheet
will not be considered valid.

Before writing anything on the OMR Answer
Sheet, all the instructions given in it should
be read carefully.

After the completion of the examination
candidates should leave the examination hall
only after providing their OMR Answer
Sheet to the invigilator. Candidate can carry
their Question BookKlet.

There will be no negative marking.

Rough work, if any, should be done on the
blank pages provided for the purpose in the
booklet.

To bring and use of log-book, calculator,
pager and cellular phone in examination hall
is prohibited.

In case of any difference found in English
and Hindi version of the question, the
English version of the question will be held
authentic.

On opening the question booklet, first
check that all the pages of the question
booklet are printed properly. If there is ny
discrepancy in the question Booklet, then
after showing it to the invigilator, get
another question Booklet of the same series.

10.

11.

12.

Te-gRA®T H UA® U & IR GRITad StR—
A,B,CTd D | Wiemdi & 89 9 fawedl § &
U6 [ el Yal Ha¥ UG SR Blel 2|
IR BT OMR J=R-3e § Jufd u97 o §
o TPR MR R

SHEYUE

'EL

w1 @ © O™

2 A ® ©

wm: D @ © ©
TSI TR AT U SR =8 BleT AT el T
&, TT Tl H 3T MRaR fodm T, I FAvved
fear S |

TG T B 3F FHE 2| AP R SR
e B, I B AR 3P YIM b SR |

T ST $ad 3N TH. IR, ST-T98 (OMR
Answer Sheet) WX 2 fo o 8| Sw-uAe A
uiRa WM & araTmar o=d d8l W fear M
STR A T8l 81 |

3. TH. R, STR-U36 (OMR Answer Sheet) W
o N fore 9 7@ I A T W0 argeul
AaIgdd U foram S |

e T & SW Wendf w7 Red Bl
3T OMR Answer Sheet SUTE XM & ¢
B T P F WRAH By | qRemeff o W
TE-QRAHT o S A ¢ |

ferife mifd T8 2 |
5 W X6 PR, TH-YRAET T 3 H, H-B
& foru oy w@relt U1 W & fdan S ARy |

URIET-eT ¥ ANT-gab, Defdeicy, UoR a2l HegerR

B o ST 9T SHBT SYINT AT Iroid 2 |

7 & Rl U9 Ul wUrRer § f=Tar 89 @l
T H U BT SN HUFROT & AT BT |

HEAYU

—

| EAYRADT Fiel W YA G 9% o o

2y
i3
E
oy,
a,
j
8



	ELC-203(N)-Cover A.pdf (p.1-3)
	ELC-203(N)-Set-A.pdf (p.4-12)

